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Instructions

Gmiy:

1) owarsg allomssenn sfurst uglaurd o drersT  sTsTLMS

sfluriégis Gamsrerayn. gdsiuglalsd Gopulmliisr gemms

serarenfliiurerflib 2 1 srquirs Qs Nafléseayib.

B g &@LUy eowuilmer  wl GG easIUNSHEGD
919 5CH Ty BHusDH &b LwsiTL (g Beueist (B ib. LIL_MBI% 6T
UHTuSHEGLU ClueTHD LwesTuBSH6 D

Check the question paper for fairness of printing. If there is
any lack of fairness, inform the hall supervisor immediately.

Only blue or black ink must be used to write and underline.
Pencil can be used to draw the diagrams.

(i) symarsg1 allarrsaseps@in alla_weflssaib.

(i) Qsr@ssiiul_ L prerg allosafls) lsead shysw aflepL_ullener

Carpos058 GUUTLGLsr allenLullewssruyip Coidg sTepsayib.

Note: (a) Answer all the questions
(b) Choose the most suitable answer from the given four alternatives

1)

and write the option code with the corresponding answer

uggl — | / Part -1 [15X 1=15]

LDL @sreveivgrreney odlsriu@ssin Qaraiy

3) Qefloypp Qamrapliy 9}) @ rrsTev QETepliy

@) ebhepé QefleynTOarepliy #) GBIV T T6d

The fat that raises LDL Cholesterol is

a) saturated fat

a) trans fat

¢) mono unsaturated fat d) cholesterol
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2)

3)

4,

9)

I Hwre C1&TeLgID Cpmil

<) Bifley Gpmis
@) OpLisnrL 196V
The silent killer is
a) diabetes

¢) nephritis

9%) 2w @rés WSS
) AGrmrerflerv

b) hypertension

d) cirrhosis

wpenmwnHm auenflas oL psnmaeflsd hhal, BISTEMT(HE G FUL LG UTSISTLIL

jaflliueng 2_nig CFiiaugy
<) 1ISOgBIf®
@) waaus GPuTEH

<) MRTP &b

&) uriGasr(

Which ensures legal protections to consumers against unfair trade practises?

a) ISO Mark

¢) Vegetarian Mark

b) MRTP act

d) Barcode

Qsr@ssiucLaupPng CurEgsswrer Ggrysmer GaikbosH %%

(i) 2-ova FISTGeuri Heorib -
(il) 2_L_pussr agliiiygerd -
(iii) 2_evs Hr Breir -
(iv) 20 Fifley Heriv -
3 (i) d, (ii) ¢, (i) b, (iv) a
@) (i) a, (ii) b, (iii) c, (iv) d

Choose the correct match of the given table
(i) World consumer Day -
(ii) Anti obesity Day -
(iiiy World Standards Day -
(iv) World Diabetes Day -

a) (i) d, (i) ¢, (iii) b, (iv) a
¢) (i) a, (i) b, (i) c, (iv) d

(a) 14 peutbLsi
(b) 14 o&CLruf
(c) 26 peutbusi

(d) 15 wrirg

=) (1) a, (i) c, (iii) b, (iv) d
=) (i) c, (i) a, (iii) d, (iv) b

(a) 14™ November

(b) 14™ October

(c) 26™ November

(d) 15" March

b) (i) a, (ii) ¢, (iii) b, (iv)d

d) (i) c, (i) a, (iii) d, (iv) b

Gar@aésiul L g Pn wHDID STramsSnG Gurmsswrer allwullasrs

Carb6lshids.

& DD

1 H{A) ums g B)ewaefleT Syraer sTaTH WSS ILGE DS

aryewrd : (R) e_svdler thlas wpadlwwrer gienf! @y umsHS .
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6)

o) Awppin R e a@mw, R'A g ellaéadpg

o) Awppid R 2 awew R ‘A smeu allerss aflsvensy
@) Auwl@w o awsw R saun

) A gseum wpnnd R 2_sswenw

For the given assertion and reason choose the correct answer

Assertion : (A) Cotton is known as “King of fibres”.
Reason : (R) It is important textile fibre in world.

a) Both A and R are true R explains A
b) Both A and R are true but R does not explain A
¢) Only A is true and R is false

d) A is false and R is true

wirerg Gl gpairueral ssvall i L_SHle QgriflenaT gHUBSSS Fntgll & ryesilger
&) urdgse LHDID HHMDEV

) LevsiT 2_awtiay whnID eSS

@) 2 L6 gewiiy wHoid 2 L6 GlFudurd

) eTIQSISEV HMILD SUsHT SV

Montessori system establishes the relationship between

a) Reading and Learning

b) Senses and intellect

¢) Physique and physical activity

d) Writing and drawing

Qar@asuul L upBipeg Gurgsswrar Gomysamar CairbelshEs

(i) SmsETeOL FPOOGUTHSSWD (@) FwgrTEHe B)HSGD HTETE BIMEISHET

(i) @@ st PIpLOUTGSSL (b) st Ppid, 9sHEHIT TSITTEH
BlrEE0L Ppsdler @)m ussnisafld
2 _6iTem BIDHIGET

(iiiy NABE T PoOCLT®HSSLD (€) HwsHEE SjewwpgiaTar @)rew®
Bprisepd ST T Hpepid

(iv) preirg euswen FpiQurgsse  (d) 8@ Bipo

a) (i) d, (i) c, (iii) b, (iv) a b) (i) a, (ii) c, (iii) b, (iv) d
¢) (i) a, (ii) b, (i) ¢, (iv) d d) (i) ¢, (i) a, (i) d, (iv) b
Choose the correct match of the given table
(i) Monochromatic - (a) Four hues equidistant
(ii)) Double complementary - (b) One dominant colour and 2 subordinate colours

that lie on either side of its
complementary colour
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8)

9)

(iiiy Split Complementary - (¢) Two adjacent colours and
their opposite colours

(iv) Tetrad - (d) One hue colour harmony
a) (i) d, (i) ¢, (i) b, (iv) a b) (i) a, (ii) ¢, (iii) b, (iv)d
c) (Ma, (i) b, (iii) ¢, (iv) d d) (i) ¢, (ii) a, (iii) d, (iv) b
QET@ESILLL g pHOl LHDILD STresTESHE& GUTHSSLTeT aflswL_ullensord
Gaih0sHsS :
ampyr (A 9@ aluruTrsms o_meurss GuBIGD BT HTesT Qs rifley peneTGouri
S, EUITIT.
srrewrid: (R) @auisdr  Glerhs pooreflurs, OFThs GurFmaTHmST

senL_LiligLILeT&eTTEHaLb, BE  Qauguglsemer 2 auIGLMTTS [OGEE
GsuelT(HMD.

o)) Awpmit R o_asrenw, R ‘A g aflordgEDSI.

o) A wpgib R 2 _simemw, R ‘A' &2 eneu aflerssaflsane

@) A saumi wHoId R 2_srenio

#) A i G 2_awenw ‘R’ e

For the given assertion and reason choose the correct answer

Assertion : (A) Entrepreneurs are those who creates and runs a business. .
Reason : (R) They become own boss, pursue their own idea and realise financial
reward.

a) Both A and R are true R explains A b) A and R are true but R does not explain
¢) A is false and R is true d) Only A is true and R is false

QETEESILLL Fn DO LOHDILD STTaTSSHE@ QUTGHHSLTET aflsoLuflensirs

Baib6sHss

smpm  CsTHpSSmET B&GUSHHTS a11qHL1.607 Sevsewt i @Sewmiles
LweTURSSLLGHEDS!.

sryesnTid | GSarmileir ey 24 5e0IOI_eSTL LIGHTL|SGemET 2 ML WSHTEV

9)) s pm Fflwmrest STTEITLD HOUDT TS

o) sTrERTD FAWLTRTS FHDI SMDTATS!

3)) G HPHESTET STTSWILD FillwreTs

&) STTETSS DBTET FnDMI SMDTETSHI

For the given assertion and reason choose the correct answer

Assertion : The Common disinfectant used in filtered water is Chlorine

Reason . Chlorine is a strong oxidant that kills many harmful micro organisms
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10.

11.

12

13.

a) Assertion is correct Reason is wrong
b) Reason is correct Assertion is wrong
¢) Reason for Assertion is correct .

d) Assertion for reason is wrong

pstrueTafil] LGoUSH e UBBRISTL 2 WiLglIL&ES 2 gaflwrs peirusTefiuiled
&pLIGS LwesTLESSID Gyl

9)) Y BSVbD <) Qaueflpri @ Gory)

@) smiGwry ) prlbg!

To lay foundation for future learning of preschoolers the medium of education must be in
a) English b) Foreign Language

¢) Mother tongue d) Hindi

sThS MU LIVSTIILIL L CUGHTERTRISST (5 Qargd Jerwiursds
SrenTrIL@GID.?

&) SjgliLenL HjsoLoLiL 9)) BeTer HjewliL

@) GOsrerm QHTLL SjewLOliL &) gd@ID jenioLiL]

The style in flower arrangement that produces a multi coloured mass effect is

a) oriental style b) modern style
¢) traditional style d) floating arrangement

wraGLr B Lflev sawsg 1.026 &6 gooppbg sTavwliubag!

LITedle) eVl LD Bameurallsy sevLiLIL 1b
I 2

@) QpBiiruflev SVl 1D 7)) LLiiled sevliuL b

Lactometer reading less than 1.026 indicates

a) milk adulteration b) ghee adulteration
¢) khoa adulteration d) dhal adulteration

HACCP @Qewesgpsopufler s7ap Ligseflsr sflumer gpenm

) seTaTERiliL] HL Uiy &ansSHmaT BlDIajH0

i) péAwTaT aribySmaT BlDinBHeV

iii) @a&fw sL LU yhETer LsiTaflgmer s HUgS560
V) usgismen GUSs LGLUTLIe) BLSSIL

V) sflwrer QFwssEemer Blmia|sed

vi) Qawdpsmn UBleyEemeT eSS (HikIS 6T

Vi) Qewdgpsmpaswer FALITTSS6V.
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<) (), (iii), (i), (iv), (v), (vii), (vi) ) (i), (v), (i), (@), (i), (vii), (vi)
@) (), (i), (i), (iv), (v), (vi), (vii) ) (iv), (i), (ii), (i), (v), (vii), (vi)

Arrange the seven steps of HACCP in correct order

i) Establish monitoring procedures
ii) Establish critical limits

iii) Identify critical control points

iv) Conduct Hazard Analysis

v) Establish corrective actions

vi) Record keeping procedure

vii) Establish Verification Procedure

a) (i), (i), (ii), (iv), (v), (vii), (vi) b) (i), (v), (i), (i), (iii), (vii), (vi)
c) (i), (i), (iii), (iv), (v), (vi), (vii) d) (iv), (i), (ii), (i), (v), (vii), (vi)

14. israu@id ewgweosener sflwrer &L S5 HE6r Briys.

[ DG LILINI_ MSIWIe) J

! '
Lj;;b&n‘aﬂ& MBIV ] @wﬁgu’ NG W6 ]

[

] [ feireyp v j

) Qamibiflm ) vgwvasTri @ewpGumi_t_s0
3}) lan %) MF p

@) el fm ) @U_(B% snS WD

Fill the boxes with the following given stitches. Mentioned below

[ Basic stitches j
! v

[ Temporary stitch ] t’ermanent stitch ]

] [ Back stitch }

a) hemming b) Tailors tacking

¢) Whipping stitch d) Running stitch
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15.

§ThS Chrwmred urTglésiul L et @)eraedler Gampur® Sveg B)ssreedlesr
2_puggl Gaiwurg plensvullsd G wmriu?

9) 2_L_DLIHLOGHT =) Bwsw Conmis

@) Cplisnri s =) B ffley Gpmis

Which type of diseased person do not produce insulin or can not use insulin produced by body
a) obesity b) heart disease

¢) nephritis d) diabetes

u@# -2 | PART -II

GOy ) steweuBuignin 6 aflerrédsens@ allew. gefldsayn [6X2=12]

91) aflesrr erevst 24 & HL_LTwwrs aflwL_weflds CaawT@H b
B) s ur® srihs alarréseps@ 50 auridmssensE WsTwd el
Sjefldsayid

Note: (i) Answer any six questions

16.

17.

18.

19.

20.

21.

(ii) Question No. 24 is compulsory.
(iif) Answer to theory questions should not exceed 50 words

Biifla) Curenw s plw 2_gab Blrés srdhsamr UTCFTSmeaT Wsomsener

IOETER
Name the blood glucose tests used to diagnose diabetes?

60 auwig 2 s w @@ walls®HeHG BisCsriana LHMID B)TES HWSSLD o_sTaTg.
I|aUHS G CaTSsLLL Couatrigw GarigwbHer ojarey sTesar?
What would be the sodium requirement of 60 year hypertensive old man with Odema?

LOTHDEE g ULl DY UISSTET &TTswllEener UL 1gwedHS.
List the modifiable risk factors of heart diseases

upBISET whDib srisrasaflgisirer oy o Ha016_sTH\& 6T wreneay?
What is the role of antioxidants present in fruits and vegetables?

gpsiTusaf] renTaui Sl tb sT85enID @)Tesr(H s TeuIDTET QFWSEET 6TeusMTMI
THUGSgieurin?

List any two ways to inculcate creativity among children?

usitefl s141 1 G5DEG Cprédullpliug o wi ApLiIydLWSTS SEHSLILGEDS ~

Bwrwin®sss.
South facing is ideal for preschool. Justify?
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22,

23.

24.

rowreflsr aft_ig6, jLirsgwrer BIDsiTer oui QsmressrL QWD 2 drengl. SybHS

DU BTid eTeheuryy UGS Sioug)?
Ramya’s room is with dark coloured wall. How can we make the room appear bigger?

GlupGmri Hriamser BYBMBHEHE G HTaissT @)dars Gurgl enwwid Frihs
urmoflinflever Cx i Qs EA D Tissr. Bluruiu@sgs.
Many parents select center based care for their children in their absence. Justify

Qg Tifley wpemsar@ourfeir Licwhlssener LN
State the main functions of entrepreneur

uggl -3/ PART -1

GOl &) gGsepp 6 sllerrésansg el yaflsaan [6 X 3 = 18]

Note:

25.

26.

27.

28.

29.

<)eflerr ereior 33 s Lrwiors eflepr SyeflsEHea L.

B) Car_ur® sriks allerrdsemd e 150 UTTEMSH eSS BaTwe alleni_
el seyLp.
(i)Answer any six questions

(i) Question No. 33 is compulsory.
(iii_ Answer to theory questions should not exceed 150 words

2 rou Blenew Fffley Gpmiis steTmred steirenr? Bswer GemTILESS Wy ujor? oyip
eT6vflsb eTektoummy)
What is prediabetes? Can it be reversed? If yes How?

B wHyId UFens Bimaissrrerg) et suigu BDGISTTGID 676577 @) b
BIDBISHST BTid 6TH%5 @) mis el LweTU RS SHICsumid.

Blue and green are considered as receding colours? Why? In which area we can use such
colours.

owgsrflurer yref amusy CsriL i gerg oyriblés S0 Quil s mrsir.
AV (GBI GeRTRISST 2601w STUTBIGEDET 6T([B\d 51655 M) 5.
Raji a housewife is interested to start a kitchen garden. Suggest her some medicinal plants.

STOFwd sHoseTT SeudliL@id srailh@ WwHSsIuT Gophs &rédAwid F551
Blophs o_areyssner st(Hés S ByniSSuNmSEpri. steausma 26T 9o Ehd: S,
Q& T(HSHTLD.

Doctor has advised Kala to follow a low calcium diet as she suffers from calcium stones. What
foods would you suggest her?

55-60% &Gsoriassir ufbsIriiuger e Senerd il &L EUIUTL 19 eneryFaildseomid

BurTwiu®ég)s.
Suggesting of 55-60% calories improves glycaemia control. Justify
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30.

31.

32.

33.

BISTCaTT GewpFiragh Hirtiumugssd wrrrsy UYPEG ClSTIIr wprguyid.
Who can file a complaint in consumer redressal forum?

2_QUEaULl LITGISTES LilsTunn Couesmigus sreflu Ly sener TUPSIH.
Enlist the simple steps to ensure food safety

gpssrusraflufled LT SEN L b WEHw GyEIsLTS. alloriigdmgi. urLSH L sHemesr
OILEINRIOEY TR

Curriculum is an essential component of preschool. Classify Curriculum

Brié 6551 @) GSw GBI eurTioe) sTeueumryy UTSISTESE DS
How does fibre content protection against heart disease?

u@# -4 /| PART -1V

Ivardg afllarrés@nsgn el weldsan [5 X 5 =25]
Answer all the questions.

34. o) QuerQurmer ppisuarsgley Causnev uriaEn rrEssi @msw Crrullermsy

uTglés (Ll BererTi. S|aimEE sTanems QETagLit) GoidseTid sTelousmns
Parwsmu salliss CauaT@ sTaTumSs Fn IS,
(Spsbsg)
2) S wsaTulle urtifu IO Qs G Gurull s gt. 5 eurhigid wpeir sresrear
aflauriissner Gt B srafler Lriss GeuabrHib.

a) Rajesh working in IT department suffers from heart diseases. As a friend suggest the type of
fats to be included and fats to be avoided.
(or)
b) Bread bought from a bakery was stale and rotten. What information should we look when
we buy a bread pocket?

35. o) Guf sremsvGuiry sOLsMlBHS Sjemsal o_arenes s L_sTsd 2_emTey

CSTHI THUL B Gl L e, surd) wpmih suufipmiesiwred yeudluybmmeir,
wGSGIT FTLGLTATOVT 2_smrey HEpFTHeTTTs0 2 _ewiey GSTHI THULE
o_drengi stery an PullGésApri. #revGurGersvsvr 2 _ewTey BEhFTSHeL afleurf],
(Spevevg)
) 17ef ur_ewms afiig6d 10 eumLiors GuilpApri of L GésL 6T surmis) of @

UTEIS S L B Qeirermi. Qerhs ofi iq67 HeTedwSOT OEER

a) Mary ate non-vegetarian food from a road side shop. She is suffering from food poisoning
symptoms like nausea, vomiting and stomach ache. Doctor diagonised as salmonella food
poisoning. Explain in detail the above food poisoning,

(or)

b) Raju stays in a rented house for 10 years. Now he applies loan to buy a house. Explain the

advantages of own house.
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36. ) @)srewpw QuehT GYHamsssT Brever QuabTenflsar allardgs.
(osbavgi)

o) QFsTensruile) L LGS EeN samenti UHDTEGD THUL BTG, HOTE
weppBay CFsfldss LLGaIDS (PHDEET 6TWLSIS.

a) Girls of today are women of tomorrow. Brief this statement with women empowerment
(On)
Jb) Many parts in Chennai face water scarcity. Suggest different ways to store rain water

effectively.

37. o) Aaflvrelld BusGn BLGES WML allg eI LILITETTTEr Foenf ClFwbhems
EPYSaTTR YEOL Ay DESITONTI. HyaTred vallsrT @owssrd Gumnems
BlevysaflarTey G epL_seT 2 HaTsGH DT, sThS @y APbsSIBUTLLILESSS.

: (Spevsv )
@) weTusTeNuley HuAwTs GYHSHT eudwib Lgss Caa@h. afleurfl.

a) Ramani fashion designer prefers synthetic fibres for cine actress. Whereas Pavithra a
house wife prefers natural fibres. Which fibre is better. Justify

(or)

.b) Preschool is as essential need of preschoolers. Explain?
38. &) HrrwsHe surapid srgy Amt Gsrifled Pevtmy Y rioLilGs o ererTi. FAmy
QaTflev SyribiiGas srarClesiTeasr Ligser staTUmg aflouflésEa)ib.
(Sve0g1)
=) afiGarrdlesf eresrucui 18 euwigy Byl Arrwss CUST SjaIEHsES ST TesT
o_fenwasr Qxfwalieme. QU Gybamswlst o_MNmwasmear &BlS5s allfliswrie
THUBSSLD.
a) Sadhu is from remote village. He want to start a small industry in his village.

Enumerate the steps involved in starting a new small industry

(or)
b) Vinodhini a 18 year old village girl. She is not aware of her rights. Educate her about
the rights of a girl child.

o 2
¢

[ 94\ \0\\\
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